


Chain Rule

We've  seen : dqe2×=2e×

¥ e-
 ' '

= - E
'

.

There  is  a pattern here
.

To  see more
,

consider

da sin ( 5x)= Lingo sm(5k+h))-sin(5x)h

= Slim sin (5×+54) - sihtsx )
h→° T

=5 himsuh(5x+w)-sch(5w→o
W

= 5 sin 'l5× )

= 5 cos (5*)

In general d- s .h( axk a coscax)

;dz eat =  ae
"



These  are special cases of the following rule
,

known

as the Chin Rule

¥ flg (A) = f '( as (A) g
' ( x )

da sin ( 5x)= sin 'l5× ) .

fly ( sx )

= 5 cos (5x)

e. g. ddy ( • sci ) =  -

sina.dz/2=Zxsinlx2)

Now
you turn

,
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